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By 3% 4 Fn044£04 7 08 H eI Dt e/ 74 hv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

X R = 10. 00| AHxf 380 3, 800 972 719 432
EPN S - 10. 00| FA % 359 3, 590 1,512 1, 390 756
B X £ % 15. 00 | #85F 301 4,515| 1,944 1,601 1,274
X D O 12. 00| AH%F 218 2,616| 1,296 841 432
ESF AWII--N o JE 0. 20 | FH%f 2, 440 488 97 85 43
e aoo|kaxt| e8| ol | 1,404
H & N 3. 00| FHxf 149 447 1,404| 1,072 756
H A el 1. 00 | #H % 240 240 432 244 130
ENIEE 500 fxt| 20| 00| 1,350 1,080 810
5 X w5 4. 00| FHxf 8 32| 1,620 1,458] 1,296
A w5 2. 00 [ FH %} 153 306 864 718 540
[ 1N 5 5. 00| FHxf 796 3,980 1,890 1,375 724
~7 b~ | F 3. 00 [ FHx} 61 183 1,836 1,602| 1,404
SR AL 2. 00 [ FHx} 30 60| 1,944| 1,764| 1,404

FE e VR 10. 00 | FH %t 65 650 2, 700
£ A L 10. 00| AHxf 442 4,420| 3,564 2,365 756
LA A It fE 10. 00 | #H%f 733 7,330 2,592 1, 945 1, 080
Y=L F R 5 [ 4. 00| AH%F 610 2,440 1,404 785 486
Tayal— w5 6. 00 | #H %} 57 342 2,808 2,717 2,484
ENIE 6.00| #Exf| il 666| 2,808| 2,573| 1,296

L xon & A 4. 00 | FHxF 6 24 3,024
AEMEE w5 0. 10| fH%f | 5,150 515 140 87 65
ZDXH E % 0. 20 | FHx} 690 138 65 50 43
LU E % 0. 20 | FH %} 150 30 76 59 54
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RHE A F1044£04 H 08 H EFER S 13 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

HEAM Fosk L 10. 00 | #H%F 1 10 2, 160
gElee | 10,00 Mxt|  s00| 5,000 27000 2,412| 2 160
5 U H O 10. 00| AHxf 19 190 3,132| 3,041| 3,024
Avara 7 4 U E | 13.00| fH%f 73 949 3,986| 3,815| 3,348
HEBR D & [ 0. 27 | ¥} 2, 332 632 378 336 238
S X EF I 0. 25| FHx} 5, 154 1, 296 432 314 162
RIHD Y £ IR 0. 25| FHx} 1,467 367 335 277 151




